



$$\begin{aligned} f_1 &= a q_1 + b q_2 \\ f_2 &= c q_1 + d q_2 \end{aligned}$$

$$\begin{aligned} L_1 &= t(q_1 + q_2)\dot{q}_1 - \dot{q}_2 + \frac{dq}{dt} \\ \text{when } a &= 0, b = 1, c = 2, d = 1 \end{aligned}$$

$$\begin{aligned} L_1 &= t(q_1 + q_2)\dot{q}_1 - \dot{q}_2 + \frac{dq}{dt} \\ \text{when } a &= 0, b = 1, c = 2, d = 1 \end{aligned}$$

$$\begin{aligned} L_1 &= t(q_1 + q_2)\dot{q}_1 - \dot{q}_2 + \frac{dq}{dt} \\ \text{when } a &= 0, b = 1, c = 2, d = 1 \end{aligned}$$

$$\begin{aligned} L_1 &= t(q_1 + q_2)\dot{q}_1 - \dot{q}_2 + \frac{dq}{dt} \\ \text{when } a &= 0, b = 1, c = 2, d = 1 \end{aligned}$$

$$\begin{aligned} L_1 &= t(q_1 + q_2)\dot{q}_1 - \dot{q}_2 + \frac{dq}{dt} \\ \text{when } a &= 0, b = 1, c = 2, d = 1 \end{aligned}$$

$$\begin{aligned} L_1 &= t(q_1 + q_2)\dot{q}_1 - \dot{q}_2 + \frac{dq}{dt} \\ \text{when } a &= 0, b = 1, c = 2, d = 1 \end{aligned}$$